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1. (a)

©®)

2. (a)

(b)

2

Attempt any five questions.
All questions carry equal marks.
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Explain expenditure method for calculating GDP.
GDP e 31 =59 fafy 7 sren A1 9

Write short notes on any two:—
() Business Cycles
(i) Implicit Deflator

(iii) Personal Disposable Income.
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Explain the relationship between value of multi-

plier and slope of aggregate expenditure curve.
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For Séving function S=-500+0-20Y, at what
level of income—

(#) will saving be equal to zero?
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3. (a)
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4. (a)

3
(@) will svavi'ngs be equal to investment, if

autonomous investment is Rs. 100 crores?

How much will the equilibrium level of
income change, if autonomous investment

increases to Rs. 150 crores?
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Why does the trade balance become unfavourable
as domestic income increases? '
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Show the effect of fiscal policy via change$ in
government spending on equilibrium level of

GDP.
W =g uREdT ¥ wem @ gesy Aife %
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What are aggregate ‘demand shocks? Explain the
effects of positive demand shocks ‘on real GDP

P.T.O.
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5. (a)
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6. (a)

®
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and price level when short run aggregate supply
curve is vertical.
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What factors can lead to shift in short-run
aggregate supply curve?
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What are the three motives for holding money?
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Discuss the working of monetary transmission
mechanism.

ﬁfﬁﬁmﬁaaﬁwﬁmaﬁm'?ﬁf@l 9

Define LM curve. Explain its derivation graphi-
cally.
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What are the limitations of commercial banks in
the process of credit creation?
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Name the factors that determine the demand for
and supply of foreign exchange. How is
equilibrium foreign exchange rate determined by
the forces of demand and supply?
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Distinguish, between Balance of payment and
Balance of trade.
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8. Why is long run aggregate supply curve vertical? What
does this imply about the impact of aggregate demand
.curve shifts on equilibrium level of real GDP in long

run?
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